

## Purchase & Store Section,

## Liaquat University of Medical & Health Sciences, Jamshoro.

SPPRA NIT ID# T01904-21-0040

NIT: LUMHS/PSS/-1983 Dated: 18-09-2023

Tender opened: 05-10-2023

Financial Comparative Statement of Procurement of Dental Material & Instruments for the Faculty of Dentistry Undergraduate & Postgraduate Training, Institute of Dentistry, LUMHSJamshoro

Sr. No.	Description of required Items	QTY	M/s Technology Links Karachi		M/s Mega Tronic Traders Hyderabad		Remarks
110.		4	Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	
1	Alginate sodium	24 Pkts	2,500 Alginate Sodium china	60,000	1,450 Alginate Sodium hygedent	34,800	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
2	Resin Bond 5 <sup>th</sup> Gen	20 Pkts	5,590 Resin Bond 5 <sup>th</sup> Gen 5ml packet china	111,800	4,350 Resin Bond 5 <sup>th</sup> Gen 5ml bottle Ruby	87,000	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
3	Burs BR-31	10 Pkts	590 Burs BR-31 Mani China	5,900	87 Burs BR-31 Mani China	870	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
4	Burs SF-13	10 Pkts	590 Burs SF-13 Mani China	5,900	87 Burs SF-13 Mani China	870	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
5	Burs TF-13	10 Pkts	590 BURS TF-13 Mani China	5,900	87 BURS TF-13 Mani China	870	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
6	Burs TF-11EF	10 Pkts	590 Burs TF-11EF Mani China	5,900	87 Burs TF-11EF Mani China	870	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
7	Campo	15 Pkts	690 Campo Local	10,350	653 Campo Crystal	9,795	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest

Central Purchase Committee

Dur Muhammad Mirjat

Incharge, Purchase & Store Section, LUMHS, Jamshoro (Secretary)

Director Finance/Nonlinee LUMHS, Jamshoro (Member) Abdul Raheem Shaikh Director, IT (Services)

LUMHS, Jamshoro (Member)

Prof. Feroz Ali Kalhoro -Dean Faculty of Dentistry

LUMHS, Jamshoro (Co. Opt. Member)

Tariq Ahmed Shaikh

Deputy Director, Biomedical Engineering, Department, DUHS Karachi (Ext. Member)

Haroon Ahmed Kalhoro

Bursar,

Sr.	Description of required Items	QTY	M/s Technology Links Kara	nology Links Karachi M/s		rs Hyderabad	Remarks
No.			Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	
8	Cavex outline	05 Pkts	14,840 Cravex outline China	74,200	10,875 Cravex outline China	54,375	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
9	Temporary Filling Material	10 Pkts	1,250 Temporary Filling Material Provis China	12,500	1,015 Temporary Filling Material Provis China	10,150	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
10	Resin Composite Different Shades A2,B2, a1, B1, swies tech (8 tube each shades	28 Tube	4,670 Resin Composite Different Shades A2,B2, a1, B1, swies tech (8 tube each shades China	130,760	3,190 Resin Composite Different Shades A2,B2, a1, B1, swies tech (8 tube each shades Ruby	89,320	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
11	G.P Point Rotary (f1)	20 Pkts	2,500 G.P Point Rotary (f1) Gapadent China	50,000	1,740 G.P Point Rotary (f1) Mata	34,800	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
12	G.P Point Rotary (F2)	20 Pkts	2,500 G.P Point Rotary (F2) Gapadent China	50,000	1,740 G.P Point Rotary (F2) Mata	34,800	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
13	G.P Point Rotary (F3)	20 Pkts	2,500 G.P Point Rotary (F3) Gapadent China	50,000	1,740 G.P Point Rotary (F3) Mata	34,800	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
14	Glass Ionomer Lutting (Japan, Korea)	10 Pkts	19,200 Glass Ionomer Lutting GC1 Japan	192,000	Rejected		M/s Technology Links Karachi has single firm quoted & Qualified for purchase order being best evaluated
15	Glass Ionomer Restoration (Japan, Korea)	10 Pkts	19,200 Glass Ionomer Restoration GC1 Japan	192,000	Rejected		M/s Technology Links Karachi has single firm quoted & Qualified for purchase order being best evaluated
16	Green sticks (Local or Germany)	10 Pkts	670 Green sticks Local	6,700	653 Green sticks Crystal	6,530	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
17	Hard dental Plaster	24 Pkts	840 Hard dental Plaster Meta Korea	20,160	725 Hard dental Plaster China	17,400	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest

The Rates of Single firm Quoted Items Central Purchase Committee have been Verified Market and enclosed the Market Survey Report /Quotations under the Provision of SPPRA Rule-48

Central Purchase Committee

Dur Muhammad Mirjat

Incharge, Purchase & Store Section, LUMHS, Jamshoro (Secretary)

LUMHS, Jamshoro (Member)

Director Finance/Nominee

Abdul Raheem Shaikh

Director, IT (Services) LUMHS, Jamshoro (Member)

Dean Faculty of Dentistry LUMHS, Jamshoro (Co. Opt. Member) Tariq Ahmed Shaikh

Deputy Director, Biomedical Engineering, Department, DUHS Karachi (Ext. Member)

Haroon Ahmed Kalhoro

Bursar,

Sr.	Description of required Items	QTY	M/s Technology Links Karad	chi	M/s Mega Tronic Trade	ers Hyderabad	Remarks
No.			Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	
18	Echant Gel pack of 03 syringe (Turkey, Brazil, China)	15 Pkts	4,000 Echant Gel pack of 03 syringe Mani china	60,000	1,015 Echant Gel pack of 03 syringe Maquira Tube	15,225	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
19	K File (10)	25 Pkts	670 K File (10) Mani China	16,750	508 K File (10) Mani China	12,700	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
20	K File (6)	25 Pkts	670 K File (6) Mani China	16,750	508 K File (6) Mani China	12,700	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
21	K File (8)	25 Pkts	670 K File (8) Mani China	16,750	508 K File (8) Mani China	12,700	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
22	Xylocaine 2% Cotrage (Persocane/ HD cane)	40 Box	5,250 Xylocaine 2% Cotrage (Persocane/ HD cane) Brand Iran	210,000	4,350 Xylocaine 2% Cotrage Persocane Persocine Iran	174,000	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
23	K File (15)	25 Pkts	670 K File (15) Mani China	16,750	508 K File (15) Mani China	12,700	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
24	K File (20)	25 Pkts	670 K File (20) Mani China	16,750	508 K File (20) Mani China	12,700	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
25	Needle block	10 Box	1,950 Needle block H dent China	19,500	1,595 Needle block H dent	15,950	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
26	Needles LA	10 Box	1,950 Needles LA H dent China	19,500	1,595 Needles LA H dent	15,950	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
27	Paper Point Rotary (F1)	18 Pkts	2,420 Paper Point Rotary (F1) Gapadent China	43,560	1,740 Paper Point Rotary (F1) MATA	31,320	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
28	Paper point Rotary (F2)	18 Pkts	2,420 Paper point Rotary (F2) Gapadent China	43,560	1,740 Paper point Rotary (F2) MATA	31,320	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest

Dur Muhammad Mirjat

Incharge, Purchase & Store Section, LUMHS, Jamshoro (Secretary)

Director Finance/Nonjinee
LUMHS, Jamshoro (Member)

Abdul Raheem Shaikh

Director, IT (Services) LUMHS, Jamshoro (Member)

Prof. Feroz Ali Kalhoro

Dean Faculty of Dentistry LUMHS, Jamshoro (Co. Opt. Member) Tariq Ahmed Shaikh

Deputy Director, Biomedical Engineering, Department, DUHS Karachi (Ext. Member)

Tracial

Haroon Ahmed Kalhoro

Bursar,

Sr. No.	Description of required Items			M/s Mega Tronic Traders Hyderabad		Remarks	
			Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	
29	Paper Point Rotary (F3)	18 Pkts	2,420 Paper Point Rotary (F3) Gapadent China	43,560	1,740 Paper Point Rotary (F3) MATA	31,320	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
30	Polythine Gloves	100 Pkts	150 Polythine Gloves Local	25,000	100 Polythine Gloves China	10,000	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
31	Polishing Brush pack of 100	05 Pkts	3,420 Polishing Brush pack of 100 China	17,100	4,350 Polishing Brush pack of 100 China	21,750	M/s Technology links Karachi is Qualified for purchase order being 1st lowest
32	Rotary Files (21mm) (Three File System) M-pro File china	18 Pkts	4,640 Rotary Files (21mm) (Three File System) M-pro File china	83,520	3,915 Rotary Files (21mm) (Three File System) M-pro file china IMD	70,470	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
33	Rotary Files (25mm) (Three File System) M-pro File china	18 Pkts	4,640 Rotary Files (25mm) (Three File System) M-pro File IMD china	83,520	3,915 Rotary Files (25mm) (Three File System) M-pro File IMD china	7 <mark>0</mark> ,470	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
34	Rubber Base C Silicon	06 Box	23,200 Rubber Base C Silicon Silaxil	139,200	14,500 Rubber Base C Silicon Imported	87,000	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
35	Surgical gloves ( examination Gloves) Small Size	50 Pkts	2,000 Surgical gloves ( examination Gloves) Small Size Safety Brand	100,000	1,595 Surgical gloves ( examination Gloves) Small Size Malaysia	79,750	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
36	Syringe Box 5cc	20 Box	4,340 Syringe Box 5cc SMD China	86,800	2,900 Syringe Box 5cc SMD China	58,000	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
37	Wax sheet	20 Pkts	1,500 Wax sheet China	30,000	1,160 Wax sheet Pak	23,200	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest

**Dur Muhammad Mirjat** 

Incharge, Purchase & Store Section, LUMHS, Jamshoro (Secretary)

Director Finance/Nonfinee LUMHS, Jamshoro (Member) Abdul Raheem Shaikh

Director, IT (Services) LUMHS, Jamshoro (Member)

Prof. Feroz Ali Kalhoro
Dean Faculty of Dentistry
LUMHS, Jamshoro (Co. Opt. Member)

Tariq Ahmed Shaikh

Deputy Director, Biomedical Engineering, Department, DUHS Karachi (Ext. Member)

Haroon Ahmed Kalhoro

Bursar,

Sr. No.	Description of required Items	QTY	QTY M/s Technology Links Karachi		M/s Mega Tronic Traders Hyderabad		Remarks
			Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	
38	Root Canal Sealer Calcium Hydroxide paste (Italy)	10 Pkts	10,340 Root Canal Sealer Calcium Hydroxide paste Meta Korea	103,400	4,785 Root Canal Sealer Calcium Hydroxide paste Oxypara	47,850	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
39	Molar Band (USA) Different Size (36+36 Till 40+40) (UL/ UR/ LL/ LR) 20per each	85 Pcs	570 Molar Band (USA) Different Size (36+36 Till 40+40) (UL/ UR/ LL/ LR) 20per each Alistar USA	48,450	363 Molar Band (USA) Different Size (36+36 Till 40+40) (UL/ UR/ LL/ LR) 20per each USA	30,855	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
40	Bracket Set MBT (USA)	25 Pkts	3,620 Bracket Set MBT (USA)	90,500	4,060 Bracket Set MBT (USA)	113,680	M/s Technology Links Karachi is Qualified for purchase order being 1st lowest
41	EDTA Cream for root Canal Cleaning	10 Pkts	6,670 EDTA Cream for root Canal Cleaning Meta Korea	66,700	5,075 EDTA Cream for root Canal Cleaning Imported	50,750	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
42	Self-Cure Powder	5 Kg	14,000 Self-Cure Powder imported	70,000	9,425 Self-Cure Powder UK	47,125	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
43	Self-Cure Liquid	5 Liter	2,200 Self-Cure Liquid local	11,000	4,350 Self-Cure Liquid UK	21,750	M/s Technology Links Karachi is Qualified for purchase order being 1st lowest
44	Heat-cure Liquid	5 Liter	2,790 Heat-cure Liquid Local	13,950	4,350 Heat-cure Liquid UK	21,750	M/s Technology Links Karachi is Qualified for purchase order being 1st lowest
45	Heat-Cure Powder	5 Kg	12,100 Heat-Cure Powder Imported	60,500	9,425 Heat-Cure Powder UK	47,125	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest

Dur Muhammad Mirjat

Incharge, Purchase & Store Section, LUMHS, Jamshoro (Secretary)

Director Finance/Nominee LUMHS, Jamshoro (Member) Abdul Raheem Shaikh

Director, IT (Services) LUMHS, Jamshoro (Member)

Prof. Feroz Ali Kalhoro

Dean Faculty of Dentistry LUMHS, Jamshoro (Co. Opt. Member) Tariq Ahmed Shaikh

Deputy Director, Biomedical Engineering, Department, DUHS Karachi (Ext. Member)

Haroon Ahmed Kalhoro

Bursar,

Sr. No.	Description of required Items	QTY	M/s Technology Links Karachi		M/s Mega Tronic Traders Hyderabad		Remarks
			Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	
46	Cold Mold Seal	10 Liter	570 Cold Mold Seal Local	5,700	725 Cold Mold Seal Local Pak	7,250	M/s Technology Links Karachi is Qualified for purchase order being 1st lowest
47	Complete Teeth set (Pack of seven Strips) Shade no. 3&4	05 Box	4,640 Complete Teeth set (Pack of seven Strips) Shade no. 3&4 Welbite	23,200	5,075 Complete Teeth set (Pack of seven Strips) Shade no. 3&4 Pak	50,750	M/s Technology Links Karachi is Qualified for purchase order being 1st lowest
48	Partial teeth Upper & Lower (Pack of 24) Shade No. 3&4	05 Box	4,640 Partial teeth Upper & Lower (Pack of 24) Shade No. 3&4 Welbite	23,200	3,480 Partial teeth Upper & Lower (Pack of 24) Shade No. 3&4 Pak	17,400	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
49	Molar Teeth Upper & Lower (Pack of 24) Shade 3&4	05 Box	4,640 Molar Teeth Upper & Lower (Pack of 24) Shade 3&4 Welbite	23,200	3,480 Molar Teeth Upper & Lower (Pack of 24) Shade 3&4 Pak	17,400	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
	*			545,450		1,453,230	

Dur Muhammad Mirjat

Incharge, Purchase & Store Section, LUMHS, Jamshoro (Secretary)

Director Finance/Nominee

LUMHS, Jamshoro (Member).

Abdul Raheem Shaikh Director, IT (Services) LUMHS, Jamshoro (Member)

Prof. Feroz Ali Kalhoro

Dean Faculty of Dentistry

LUMHS, Jamshoro (Co. Opt. Member)

Tariq Ahmed Shaikh

Deputy Director, Biomedical Engineering, Department, DUHS Karachi (Ext. Member)

Haroon Ahmed Kalhoro

Bursar,